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Number System — 2

1. How many thousands are present in 324025?

a) 24 b)
c) 324 d)
2. 2 Lakhs + 4 thousands + 3 tens + 6 ones =

a) 240036 b)
<) 200436 d)
3. 500000 + 40000 + 8000 + 300+ 5 =

a) 548503 b)
c) 458305 d)
4. What is the place value of 6 in 7654037

a) Lakhs b)
c) Sixty hundred d)
5. What is the sum of the place value of 9’s in 490490.

a) 90090 b)
c) 99000 d)
6. What is the sum of place value and face value of 5 in 5070637
a) 50005 b)
c) 500005 d)
7. Which digit is present in ten thousand place of 5764037

a) 5 b)

c) 6 d)

8. Divide the place value of 6 in 306035 by the face value of 2 in 4523.

a) 2000 b)
<) 6000 d)
9. 12 times the face value of 5in 576324 =

a) 50 b)

b) 75 d)
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40

234

204036

None of these

584305

548305

Sixty thousand

Tens

90900

90009

50050

None of these

4000

3000

60

None of these
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10. What is the predecessor of 5000507
a) 500040 b) 50045

c) 500049 d) 500051
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